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LEGEND

MATCH EXISTING ELEVATION

STORM SEWER INLETS

NOTES

1. ALL SIDEWALKS AND ACCESSIBLE ROUTES,

INCLUDING DRIVEWAY CROSSWALKS, SHALL

CONFORM TO ALL APPLICABLE AMERICANS WITH

DISABILITIES ACT STANDARDS AND THE TEXAS

ACCESSIBILITY STANDARDS. IF ANY DISCREPANCY

IS DISCOVERED, THE CONTRACTOR SHALL NOTIFY

THE ENGINEER PRIOR TO POURING ANY PAVEMENT.

2. ALL SIDEWALKS AND ACCESSIBLE ROUTES SHALL

NOT EXCEED A RUNNING SLOPE OF 5% (1:20)

WITHOUT A RAMP, AND SHALL NOT EXCEED A 2%

CROSS SLOPE (1:50).

3. THE ACCESSIBLE PARKING AND PASSENGER

LOADING AREAS SHALL NOT EXCEED A SLOPE OF

2% (1:50) IN ANY DIRECTION.
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